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[ 5-1]

libhrary IEEE;

use IEFE._=td logic 116&4.a211;
use IEEE.=std logic unsigned.all;.

entity ALD W

im

Pnrbm, b - in =td._1n-qin‘_==‘ent-nr[15 downto 0} ;
==l - in =td_1nqi|:'_=:r~|:|:"|;nr[3 downto 0} ;
c - out sl;d._l-n-qir_'_-.rentnr[iﬁ downto 01);

end ALT W;

arnhit-:_nt-ur:
constant
conztant
constant
constant
constant
constant

con=tant

rtl of ALO W is

alupass @ =td logic wvector (3 downto 0} == "00007;
andfp : =std logic wvector(d downto 0} -= "0001%;
orOp : =td legic vector (3 downto 0} o= "00107;
notOp : =std logic vector (32 downto 0} = "0011%;
xorlp : std logic vector(d downto 0} = "0100%;
plu= : =td._in-qi|:_;'c|:'l:-nr[3 downto 0} -= "0101";
alu=ub : =td._ln-g‘iz_==‘ent-nr[9 downto 0} = "0110%;

constant -::!'.E:-E = =|1.'.-|:1_l|:|-q:'|.|:'_=;"-|=r_'t-|:rr[3 downto 0} = =0111";

constant dec : =std logic vector (3 downto 0} -= "10007;

con=tant zero : =td._lnqin_ven‘t-nr[ﬂ downto 0} = "1001%;

begin

proce=ss(a, by 3=l} begin

come =ml Iim
when alupass = c <= a; ——Eﬁﬁﬂﬂ,ﬁlﬂ
when and0p => c <= a and b; ——iEER S E
when orlp => c < a or b; —*‘Eﬂﬁﬁfﬁ
when morlp = © €= a Xor b; —FEEmE{E
when notlp = C <= not a; ——Eiﬁﬁ_ﬁ:'
when plus => c < a+tb; ——!.‘-“Ej‘]:ﬁﬁ':'
when alu=sub => o <= a — b; — W R E
when inc => c <= a + "go0o00000000000001%; —ioaEedE
when dec => c <= a — "0000000000000001"; —{E1ssfE
when seroc = © <= "00000000000000007; - =R

when others => c <= "0000000000000000% ;

end case;
end rtl;

end process;
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library IEEE:

use IEEE.std logic 1164.all:
use IEEE.std logic arith.all;

use IEEE.std logic unsigned.all;
entity comp 1=

porti a, b:

sel : in std logic wvector

Compout

end comp;

in std logic wector (15 downto 0O):

out stod logic);

architecture rtl of comp i=

constant
constant
constant
constant
constant
constant

begin

processia, b,

case sel is

ec:
nedq:
oL :
gre:
1t:
lte:

std logic wector (2
std logic wvector (2
std logic wector (2
std logic wvector (2
std logic wector (2

std logic wvector (2

=el)] bkegin

[ 2 downto 0O ) ;

downto 0):= 000",
downto 0) := "O01";
downto 0):= "010%;
downto 0):= "O11";
downto 0):= "100%;
downto 0):= "101";

when eq =»> 1f &a<b then compout<='1'; else compout<='0"';

when negq =>
when gt ==
when gte =>
when 1t ==
when lte ==

when others => cowmwpout<='0"!

end case;
end process;

end rtl:

if &/=h then compout<='1"

if a b then compout<='1"'

if &»=b then compout<='1"

if a<b then compout<='

if a<=kb then compout<='1"

L3

; elsecompout<='0";
; else compout<='0";
; elsecompout<='0";

1'; else compout<='0";

; elsecompout<='0";

if;
if:;
LES
if;
if:;
if:;
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[ 1] 9-3]

library IEEE;
use IEEE.std logic 1le4.all;
entity REGL6A is =] 0os BEAREiTa=

port{ a : in std logic vector(ls downto 0);

clk : ‘instd logic;
q = out std logic wector{l> downto 0)]);
end BEGleL;
architecture BHV of REGlG6A is
begin

process{clk,a) begin
if rising edge{clk) then g s= a; end if;
end process;
end BHV;
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(2) & =F% =R B F 7
[ 5 9-4)

library IEEE;

use: IFEE. std logic - 1led.all;

use IEEE.std logic unsigned.all;
entity REGT is

end REGT;
architecture rtl of BEGT is
std logic vector

aaaaa

begin

a,RST) begin
THEN vl <= "0000000000000000"

process(clk,
IF RST="1"

r

port{ a in std logic vector (15 downto © );
clk,R5T, en in. std logic;
g : out std logic wvector{ 15 downto 0 ));

oy
i—lun&..m al15.0) I—
b &n

clk
RST

—

insts |

i

E o7 B=mlrETE

[ 15 downto O );

ELSIF rising edge{clk) THEN vl < a; END IF;
end process;
process{en, w¥l) begin
if en = FEY then wgqeswle else g <= "ZZZZZZZZZZZZZZIZZ"; end if;

end process;
end rtl;
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9.24 BEAFHEBREFGFRETA
(3) SRR FRPFRIEHNFFE

inst17

! |

LIBRARY IEEE; 'ﬂalz -
clk —

USE IEEE.std logic 1l64.ALL; —t o[15.0] st |
USE IEEE.std leogic unsigned. ALL; :
i - : -..REGA ;

ENTITY REG A I5
PCORT ( rst,clk, load: IN std logic; B 08 Ik FERER TS 1728

d: IN std logic wvector (15 downto O0);
g: OUT std logic vector (15 downto Q) });
END REG A&;
ARCHITECTURE Behavioral OF REG & IS5
BEGIH
PROCESS (clk,rst ) BEGIN

IF rst='l" THEN <= [{OTHERS=>"0") ;
ELS5IF rising edge(CLE) THEN
IF load='l"' THEN g<—d; END IF;
END IF;
FND PROCESS:
EMD Behaviocral;
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library IEEE;
use IEEE. std logic 1164.a11;
use IEEE. =td logic unsigned.all;
entity REG ARE is
port({ data : in std logic wector(l5 downto 0);
sel : in =td logic wvector(Z downto 0);
c¢lk : in std logic; g : out std logic vector(l5 downto 0));
end REG ARS;
architecture rtl of REG ARH is
type £ ram 1= array (0 to 7) of std_lngic_vectur{lS downto 07 ;

signal ramdata : £t ram;
signal temp data : std logic wector(ld downto 0);
hegin

process{clk, sel) bhegin
if rising edge(clk) then ramdata(conv integer(sel))<=data; end if;
end process;
proceszs(=el) begin
temp_data{ZIamdata{cnnv_integer{sel}} ; end process;
i == temp data ;
end rtl;
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library IEEE;

use IEEE.std logic 1l64.all;

use IEEE.std logic arith.all;

entity SIFT4 is

port [ & : in std logic wvector (13 downto O);
sel : in std logic wvector (& downto 0);

v : out std logic wvector (13 downto 0));

gend 3IFT4;
architecture rtl of SFT4 is
constant shftpass : std logic wvector (£ downto 0) := "000D";
congtant sftl : std logic wvector (2 downto 0) = "001";
congtant sftr : std logic wvector [Z2 downto 0) = "010%;
constant rotl : std logic wvector (2 downto 0) = "011%;
congtant rotr : std logic wvector (2 downto 0) = "100%;
begin
process(a, sel) begin
case sel is
when shftpass => &= a ; --FriEHR
when sftl == yv<= al(ld4 downto O0) & 'O' ; --IfE
when sftr == y<= '0' & al(ld downto 1) ; --HiE
when rotl == yv<= alld downto O0) & a(l15) ; —— G e
when rotr == y<= all) & a(l5 downto 1) ; —-ET5afE

when others => y<= "O00000O00OOOOOOOCOO™ ;
gnd case;
end process;

end rtl;
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9.3.1 5K

{FR WIRER BER{ER
(1) Bzfsd, Opcode SRC DST
15|14 1312 |11 S |4 3|2 [1]o0

E o014 BT,

e B
(2) XX?TE%° Opeade DST
15 | 14 | 13 ) 12 | 11 2 I |0
16 £ HR{ES
1514 13 12| 11 m|% g 7 & 5 4 3 2 1 Q

015 BWFESial

1BiERL EWI!H‘!_
[0 Jo [+ Jo Jo | o Jo] 1]
o [o oo fo o foJofo]o]o]1]o]1]e]
o 0 1 5

Blo-16 FRFIES
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9.3.2 {54 /EMY
= 0-1 KX0016 fhinis< R EIhEESE
Bl | ES Thie Bl | Ee This
00000 | NOP TIRE 01111 | IN smekiiEmbts S
00001 | LD A RS T T es 10000 | IMPLTI AT EERE B s R
00010 | STA T e iTes FEAT A TT S 10001 | IMPGT TR
00011 | MOV & 1T a5 BHE R IR TER 10010 | OUT B T
00100 | LDR 1F R A BT es 10011 | MTAD 16y FEEF N
00101 | TMPI LR B AR EE At hE 10100 | MULT 16 i Fei%
00110 | IMPGTI | AT E EEHE 10101 | IMP TEFER
00111 | INC hn 1 J5hOETEes 10110 | IMPEQ | ETa1#%#
01000 | DEC T 1 SR EE TS 10111 | IMPEQI | SETFATHFET| ZRME
01001 | AND P 1T es Bl SR E 11000 | DIV 32 {ubgiE
01010 | OR P TE T es BlaliR E 11001 | IMPLTE | MFETRIEH:
01011 | XOR P Ei7es Bl SR E 11010 | SHL Farh k- £ 24 DY
01100 | NOT B Fes A 11011 | SHR HIEEE
01101 | ADD RG] 11100 | ROTR BHaE
01110 | SUB B B Tes s B 11101 | ROTL TR
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=
9.3.2 155 #1EmS
=02 FRHERER
iz =]
R HiEsht | =i | =fERd | AER o Theei R
| B "
ILDR FRl1, 0025H AN 2 il == i L7 B[ 0025H 1% R1
3 2 A Bl Ay
s 0025H 0000 0000 0010 0101 ;
2002H 00100 | Xxmxx 010 k g
IDR R2, 0047H 2 e B 0047H E R2
0047H 0000 0000 0100 0111
IDR R6, 0036H i 2 e S a 7R 0036H £ R6
2 0036H 0000 0000 0011 0110 - =
M R13I5FER RAM
1D R3, [RI 080BH 1 00001 | Xxoexx 001 011 s
» [R1] TP B LAIEE R3
15 R3 FIRETEA
STA R3 101AH | 1 00010 | Xxmxx 011 010 ) 2
it R2 $57E RAM BT
pe— 300EH , 00110 | oomxx 001 110 | & Ri=R6, MEEG
} [R0] 0000H 0000 0000 0000 0000« 1 F[0000H]
INC RI I801H i 00111 Naxax XX 010 Rl+1—+R1
INC R2? 3802H 1 00111 | Xsox X% 010 | R2+1—R2
AP 10006 2800H , 00101 | Xooomx X% x| ZEFTMINEETEIES
MELI000] 0006H ‘ 0000 0000 0000 0110 FE[atiit 0006H
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9.3.3 KHFFEF &L
= 03 7 EiESeLEERRA

i fik ¥ & ™ 5 £ Ih BE 7 ERe
0000H 2001H i o
- N LDR R1.0032H 15 2RI 0032H iE 1382 R
0002H 2002H k g

s 0011H ZFEFE R

o s ILDR R2, 0011H 15 5z B[l =S 1Tas
0004H 680AH ADD RI R2 R3 1521528 R1 0 B2 BIFRES4ENGE R
0005SH 1819H MOV RI1,R3 1HErizes R3 BIFIEIEA RL
0006H 3802H INC R2 R2+ 1—+R2
0007H 101AH STA [R2]. R3 1% B3 FIPES 7.4 R2 FETEM IR RAM B g,
0008H 080BH LD R3,[Rl] 1% R1$5EMUEAT RAM BopRRHEE R3
0009H 0000H NOP TIRE
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9.3.3 AR i SEhl

= 0-4 FESYIREXH RAM_16.mif IAZE

WIDTH = 16; 03 = 0011; 0B : 0000; 13 : 0000;
DEPTH = 256; 04 @ G80A; OC 0000, | L
ADDRESS RADIX =HEX; 05 1819, 0D : 0000; 41« 0000;
DATA RADIX = HEX; 06 - 3802; 0E : 0000; 42 0000;
CONTENT BEGIN 07 = 101A; 0F : 0000; 43 A6CT;
00 @ 2001; 08 : OBOB; 1 :

01 : 0032; 0o 0000; 11 : 0000; 4F  : 0000;
02 @ 2002; 0A = 0000; 12 15324; END;
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likbrary IEEE;

use IEEE.std logic 1164. all;——L*LJ-.TE"'jj]D*ﬂﬁ?%ﬁﬂﬂhﬂ&?ﬁ%ﬁﬁﬂ&ﬁ%f&s |24 _E B =i

entity CONTRLA is --12EH clock#EPH sTEP

port( clock : in std logic; reset : in std logic; B E i

instrFReg : in std logic vector(l3 downto 0} ; -5 B iraatetE iS5 A
compout : in std logic; i T e
progintriWer : out std logic; ——EFE e g, BE 1 M EH AR
progintrRd : out std logic; - e e BRI B B =S TS|
addrRegWr : out std logie; —-#UIEFRoFEsEiEdiA, BF 2 8
addrRegRd : out std logic; -- W EframE A B i T
outRegWr : out std logic; - RS e T SaiES AL BFE T2 B
oubRegRd : out std logic; - Rt E T aeariEH A USSR, BHTH =3

shift3el : out std logic wvector (2 downto 0O); ——fE{u BRI R IR
alufel : out std logic wector [ 3 downto 0 ); - -ALUTHREIEIE
comp3el : out std logic vector (2 downto 0); - bt ErERTh R AR

opRegRd : out =std logiec; -- T {ER et mit

opRegWr : out std logic; --EEEHErTA TS Fas BEF T1HM
instrWr : out std logic; --EEHE T A e T ires. BT T2 B
reg3el : out std logic vector (2 downto 0O ; — BT aahE 7

regRd : out std logic; —-Efraare s EriEiD 2 Ba = S it iEs|
regWr : out std logic; --E&# PR TS AT ireerer, BF w2 B
rw : out std logic; -—rw=1, RAMEFF; rw=0, RAMIESTT;

vma : out std logic); ——TriiE s pAMEER D2 S éﬂg‘_uﬁé‘éﬁﬁﬁ%ﬂ

end CONTELAL;

architecture rtl of CONTRLA is=

constant shftpass: STD LOGIC VECTOR(Z DOWNTO O) "ooor; --tElvaREIE
constant alupass : 3TD LOGIC VECTOR(3 DOWNTO O) := "0000";--anuERA

constant zero : 3TD LOGIC VECTOR (3 DOWNTO O} := "1001"; -FiFeaa =



constant ine @ 3TD LOGIC VECTOR(3 DCWNTO O := "0111";--10 1
constant  plus : STD LOGIC VECTOR(3 DOWNTO 0) := "0101"; ——i%FE— S Erinik
type state is (resetl, resetid, reset3, execute, nop, load, store,

loadZ, load3i, loadd, =storeZ, stored, stored, incPcoc, incPci, incPoa,
loadIz, loadIi, loadId4,loadI5, loadIf, inci, incd, incd, movel,movei.
add2,add3,addd); -- FERSHAEN=TENERREEIRSTEETS.
signal current_state, next_state : state; ——Eﬁfﬂﬁﬁ?_ﬁﬁ“ Eﬁﬁ
begin
COM: process( current state, instrReqg, compout) begin --2HEHEE
progintrWr<='0"'; progCntrRd<='0"'; addrRegWr<='0"'; addrBRegkRd-='0";
outRegWr<="'0"'; outRegRd<='0"'; shiftiel<=shftpass; alulel-—alupass;
opRegRd<='0"'; opRegWr<='0"'; instrWr<='0'; reg3el-="000";
regRd<='0"; regWr<='0'; rw='0"'; vma<='0";
case current state is
when resetl=> alufel<=zero; shiftiel-—=shftpass;
oubReglir<='1l'; next state<=resetd;
when reseti=> outRegRd<='l'; progCntrle<='1";
addrReghicr<='1l"'; next state<=reseti;
when reseti=> vwa<='1l"'; rw<="0"; instrWr<='l"'; next state<~execute;
when execute=>
case instrReg(ld downto 11) is A L I = el ol e e =
when "00000" => next state THEEC == NOE f5%
when "O0001"™ => next state loadZ; -- LD f55
when "00010" =5 next state stored ;—— ST P55
when "O00100" => progonktrRd '1': alusel <= inec ;
shiftsel <= shftpass; next state<=loadIli; --LDERFES
when: "OOILL"™ =5 text sktatel =idned; -- INC P55
when "01101" => next state == add2:; —-¥EhN—-1-I0iE app fESaEE
when "00011" => next state <= mowvel; -- MOVE 5%

T




when others =>next state <= incPeo; —--%#pefn 1
end case;
when loadi=> reglel<=instrReqg(d downto 3); reghRd<='1"';
addrregWr-="'1"'; next state<=loads;
when load3=> vma<='l'; rw<='0'; regSel<=instrReqg(l downto 0);
regWe<="'1"; next state<=incPc;
WHEH add? => regSel<=instxrReqg ({5 downto 3); - 1R T aakE v B Rl
regRd<='1'; --73F Rl FiFaadidEd  \Jiik,
next state<=add3; opRegWr<='1l"' s—-iG I EHES A TESFaR. I 4 F7E—1- s TEP BF52RE
WHEH add3 => regSel<=instrReq(2 downto 0); --15EFHraarerlH] R2
regRd<='1'; alusel<=plus; --IT RZ B iraaad it A RzE, RIFGEE AL v1EIDRE:
shiftsel<=shftpass; outRegWr<='1"' ;——fﬁ ALURHE R fE g, [EIESEES A SD S e
next state<=addd; --lkEHRINsE R mam A SiE. I 5 & T —1 sTER BRiP=hk.
WHEH addd => regSel=="011"; - 1T T aar I ] R3:
outRegRd<='1"' ; regWr<='1" ,——ﬁi?ﬁﬁ%ﬁ%ﬁﬁﬂﬁ%iﬁﬂsﬁﬁs &l Erigsn A TIESas R3.
next state<= incPc; —-INiEEEtEsE R, = AE re D 1 BERESS.
when movel = reglel<=instrReqg(5 downto 3) ; regRd<='1'; alusel <= alupass;
shiftsel<=shftpass; outregWr<='1l'; next state<=movei;
when movel => regSel<=instrPReqg(d downto 0); outRegRd<='l"';

regWc<="'1"; next state<~incPc;

when stored = reglel <= instrReg(Z downto 0); reghRd <= '1';
addrregWr <= 'l'; next state <= store3;

Wwhen stored => regSel <= instrReg(d downto 3); regRd <= '1';
rwiss. Sty nextistatesds dnePe;

when loadId => progentrBd <= '1l'; alusel<=inc; shiftsel<=shftpass;
oubregWr <= 'l'; next state<=loadIi;

when loadI3 => cutreghRd <= 'l'; next state<=loadI4;

when loadId4 => outregBRd < 'l'; progoentrWr<='1l'; addrregWr<="'1"';
next state <= loadl3;



when loadIl => vma <= '1l'; rwm <= '0'; next state <= loadlIb;
when loadIé == vma <—= '1'; rwm <= '0'; regiel<=instrReqg(Z downto 0);
regWc <= 'l'; next state <= incPc;
when inc? => regSel<—instrPReg(Z downto 0); regRd<='1'; alusel<=inec;
shiftsel<=shftpass; outregWr<='1'; next state<=inci;
when inci => outreghRd <= '1'; next state < incéd;
when incd => outreghRd <= '1l'; regsel <= instrReq(d downto 0);
regWr <= 'l'; next state <= incPec;
when incPe => progentbrRd«<='1'; alusel«<=inc; shiftsel<=shftpass;
outregWe<="1"} next statet=incPci;
when incPe? =3 outregRd<='1'; progentrWr <= 'l'; addrregWr<='1l"';
next state <= incPel;
when incPel => outregRd<='0'"; wvma<='1l'; rwe='0"; instrWe<='1l"';
next stated=execute;
when others => next state <= incPco;

end case;

end process;
REG: process(clock, reset) begin —-FFE R
if reset = '1' then current state <= resetl ;
el=zif rising edge (clock) then current state<=next state ; end if;
end process;
end rtl;



9.3 KX9016v13E4 R4t

9.3.4 KX9016 v 2= it

3. CPUEfL#4E

(1) reset1.,

(2) reset2

(3) reset3.



9.3 KX9016v1384 R & %1t

9.3.5 {HA& TSR VERR
(1) WEIhEE.

ADD  Esi, ERs2, E3

(2) HiER<LHIBRIEN.
(3) WEMKFE.

(4) HIRESITTR.

(5) AT BRIEMIFIER .
(6) JAAFERSERRTEQ THRERIREFEHIE .

(7) &HEPC.



9.4 KX9016H) I 4 B 558 44

9.4.1 Bf FR i R 5L PATE I 247

CLk

STEF L L] | L L L | L L J L J L L LE
RST

B (i) ) | 0032

BUS B80A |} 12if 0032 0011 0043 0004 0005 1819 _§ it 0043 D043 0005 D008 3802
instrir h | ﬁ
WE

AR 04 Y 05 X

AL pofY 650a K FFPF K 003z § 0043 § 0043 f 0005 0005 KK 1819 § FFFF _§ 0043 X 0043 § 0006 § 000 4 seoz
outReghy I T LI 1

RAM (B 4 EB0A ) § 1819 ¥

LT 1 L
EC 0004 A 0005 ) 4

REGn D000 0022 0011 0043 0000 } STTERD ) (TLED § D000

REGs 0 Y 1 ¥ = % = ¥ 0 ¥ 3 f 0O i 0

reghd [ | Je—

regir 1 1

H0-17 KX9016 BIfFEIEF, 4 ADD 4% MOV f£4- 08 F



9.4 KX9016H) I 4 B 558 44

9.4.1 Bf FR i R 5L PATE I 247

L L L LU L L L L L L L L L LI
JooeY o007 ¥ 10iA_§_zzzz ¥ ooiz ¥ ooes ¥ o007 ¥ o0o0s ¥ osob ¥ 72z ¥ 0043 ff ecT | oooe Y ooos §f oooo ¥

g 1 C— !
R
0% Y o7 Y 1z : 0B b 4 43 X
[ori¥_ o007 f} 1o1a ¥ FFFF K o0iz K 0043 f 0008 K 0008 4 0B0B § FFFF K 0043 4K ABCT § 0003 0003 g% 0000 f
1 1 1
3|02____§ 101A } SEZEN 0043 ) 4 0B0B ) ABCT ) §

) F— 1 | F—
e 0007 ) § 0006 A 00

0000 ¥ 001z ¥ o043 X D000 {0043 §04¥RECT

0 Y- 2 ¥ 3 X 0 A 1 % 3 X

[ I I 1
1

E 0-18 KX9016 BIfAEET, & STAFESH LD £#4HEF



9.4 KX9016H) I 4 B 558 44

9.4.2 CPUT{EIHHLAIAEAENI
1. FiSignalTap IIJX 547

i ST

CLKD |

......

ik

inclkl fraquency. 200000 MHz
Operabion Made: Mormal

Clk

Rato |Phidg)

DC (%)

ci

WS000] 000

=000

el

insi

Cyclons I

STEF




9.4 KX9016H) I 4 B 558 44

9.4.2 CPUIL{EE M AIAE A

1 HSianalTan IR 5 4N kR

Instance | Status LEs 1385  Memaony: 11264 | M512 MLAB: 040 | Mk Mk 47260 M-RAM M144K: 040
[®] crutee ‘ 1385 cells 11264 bite 0 blocks 3 blocks 0 blocks
logr 201 2003724 21:36:09 #0 click to rrzer time bar
Type |Alias Hame e BT ot o e Tt e o o A s A o e S Tttt T
& = AL 001 2h i 0043h
(5] = AR i 12
[+ & BUS 012h ¢ 0043h
) @ PC : 5 0007h
o & RAM 101 &h ‘J.i 1524h
L5 = REGn 001 Zh b e 0043h
o Ve I

H9-20 BARHAEIRI KX9016 #4T M RAM B4 BT il 7



9.4 KX9016H) I 4 B 558 44

9.4.2 CPUTL/EIFAHIBEAFIB
2. #F|FIn-System Memory Content Editori47 52 i il

&= 0 RAMS:

gooo0g 20 01 00 32 20 02 00 11 68 OA 18 19 38 02 10 1A OB OB OO QO OO OO OO OO OO QO Q0 OO OO OO OO0 0O
Qooo10 00 PO 0D 0O OO0 43 0D QO OD 0O QO QO OO QD OO OO OD OD OO QO OD OO0 B2 E4 BSE Be EB7 BE DL D2 D3 D4
gooo20 DS De D7 DB D2 D& El1 E2 E3 E4 ES Ee 20 08 20 0% 2004 200B 20 0C 200D 20 OE 20 OF 20 10 20 11
ooQo30 DS De D7 DG D1 23 El1 E2 E3E4 ES Ee 2008 2009 2004 200B 200C OO CO OO OO OQ OC OO DD OO €O
gooo40 OO OO QO OO OO OO A6 CF QOO0 OO OO OOOOD OO OQOQ OQOOQOD OOOQOD OO OQD OOOO OOOQOD OOOQO OO0OOQO0 OO0 OO0

= 0-21  In-System Memory Content Editor 7 KX9016 FJ RAM FIEZF (LB RAILIER




9.4 KX9016H) I 4 B 558 44

9.4.2 CPUZI{EBHLHIBEAFIIIA

3. FIHIn-System Sources & Probesj#4T 2l

JTAG_SP

PTRET..0) b
. 1.0
probel77..0] source[1..0] : 4

inst3

R[5, 0] mTT PT[15.. AR[E..0) m& PT[FD. 64
= x % b X
PC[15..10] hﬁ """" BT REGs[2..0) ESEFTTY pTRR
GingtTE, ?‘ * inst1 k
REGn[15..0] b:if.'l;x PT[47..32 ALUIS. .0 55}1‘ "l PTEs.48
Ginsrfd * * instf k

WE E0ET PT[74

" | 1 [74]

(1 e

F 9.22  S/P EIEXT KX0016 s O EEER



9.4 KX9016H) I 4 B 558 44

9.4.2 CPUZI{ERALHIBEAFI R
3. FIHIn-System Sources & Probesj#4T 2l

¥ v o [ L
W @ REGSTIT] | Oh Oh Y 2h ' 3h '
M| |E ARTO.B4] | O8h 06h 3 oTh Y 12h

x| @ ALLE3.48  0008h 0007n y 1014 Y FFFFh Y 0012h i 0043h y
M| @ REGn(47.32) 0000h 0000 by 0012h ¥ 0043n Y
M| © PCHAE 0008h 0006h Y 0007h

S @ RAMIS.0) 0043 3802n 3 1014h X 1524n X

A 0.23 FERZ S/P EHEIT KX9016 #4T M RAM BE3iETE4S STA BIscEH MR



9.5 KX9016 N FHFEF it SEBf RGN

9.5.1 FriEE R HAE AL

i Ies FEE
64
e
1646rALT T EE
HE
l — 1647
M FEE EE A E R
EE

J 524

A 0-24 FEiEEE 1 SIS




9.5 KX9016 N FHFEF it SEBf RGN

9.5.1 FriEE R HAE AL

FORIE T

], 61
1647ALU /
-
EHFTEE H TElEEE
O 5

— $

H 0-25 P ERIRIEEE 2 BT




9.5 KX9016 N FHFEF it SEBf RGN

9.5.1 FriEE R HAE AL

FORIE T

], 61
1647ALU /
-
EHFTEE H TElEEE
O 5

— $

H 0-25 P ERIRIEEE 2 BT




9.5 KX9016 N FHFEF it SEBf RGN

9.5.1 FriEE R HAE AL

Fig | Jtia

el
ki

SEE0=1 FeFH0=1 =
@@ 1. BMEER

+ FEE0=0 "
la. BEERF T HFEE . . _ FF20=0
EHFFENEFEE S la. FHEOFERE
Him, FREEZREELOHE FI T F e E R Fm
HETENEFEHS Hin, FEERESHEH

' gl IR A 4

2 ARBEEREELL ' -
! 0 BREBFERERLA
3. HBEHNFFEEELNL |

AT32407

E 0-26 FiEEZE 1 HKEE A 0-27 FEHEE 2 BIREHE



9.5 KX9016 N FHFEF it SEBf RGN

9.5.2 BRIEFIE R FHESEI

mEFEES
I Jefr —
\ v / BT
16 firAlU T
1647
| —
28 TFEE Pk - 4 = 5 BB AR
E5 1'
1 396 I

H 0-28 BizEE 1 IEHSEH



9.5 KX9016 N FHFEF it SEBf RGN

9.5.2 BRIEFIE R FHESEI

EIEES
v 16
1647ALU
{, —>
i
SHFFE i ==

EHES

| 320 t

H 0-20 BRiEEE 2 BITEER



9.5 KX9016N FH it SL6 R RGN

9.5.3 KX9016v1 iR G4

O BT R,

@ B BERRAREFHIS2ZHT R

© T HRIESBEAF R,



SEI 5wt

SC659-1 16/6CPUMIE M T 454 L4

LH9-2 FrigQwi RIEEFIALS

) RAM_16.mif

Addr +0 +1 +2 +3 +4 +5 +h +T

a0 2001 (0021 2002 (0058 2006 (0040 OBOB 101A

08 300E 000D (3801 (3B02 (2800 |0OOS OOOD |OOOO |
10 0000 0000 0000 (0OO0 0000 0OO0 OOOO0 0000

18 |0o00 0000 0000 (0OOO OOD0 |0OOO 00O0  |0OODO

20 |ooD0 FFOD  [4321 |5432 6543 (4433 (5544  [2DFF

28 1234 (2345 (3456 2030 3033 (3068 |202D (3466

30 A1£2 B2B3 |C3C4 D506 EGE7  FESFS  ABCD |EFDY

36 1212 2323 (3434 |5656 7878 (6983 | ABAB |CDCD |
40 |EFEF 000D |0OOD |(OOOO OOOO | OOOD OOOD |OOOO |
48 |0000 0000 /0000 |0OO0 0OO0 0000 0000 /0000

S0 |0000 0000 (0000 (0000 0000 0000 0000 0000

53 0000 00D0 0000 (000D  OOO0 QOO0 ODOO  0O00

E 0-30  4%%E ram 16.mif 304




SEI 5wt

SLH9-2 Fie it KEEFF ALK

—

Tastancs T (M2 W (2l [Resdy to scquire @ x | 7146 Chain [TThG reaty

I |Tsstance ID |Status | Widtn | Dapth | Type | ods |

le=lo mam Mot run.. 18 128 RAWEON  Read/¥rite Hurdvare: | pyteBlastenttV (L771]
Davics: [@1: EFICE (0x02082000)
1]

=0 FAM:

000000 20 01 0O 21 20 D2 OO 58 20 06 OO 40 08 OB 10 1A 30 OE 00 00 38 01 bl

gooooB 38 02 28 00 OO0 O6 OO OO OO OO OO DO OO0 OD OO OO OO OO0 OO OD OO OO & A
gooplé OO0 OO0 OO OC OO OO OO OO OO0 OO OO0 OO OO0 OO OO0 OO OO OO0 OD QO OO0 OO .,.._... ;
goop2l FF OO0 43 21 54 32 65 43 44 33 55 44 2D FF 12 34 23 45 34 56 20 30 CiT2elD
ooQo2c 30 33 30 68 2D 2D 34 66 Al A2 B2 Bl C3C4 DE D6 E6 E? FE F9 AB CD 030h—di
000037 EF 01 12 12 : o0 00 FE44TY
gooo42 00 00 QO Q0 a e e
00004D 00 00 00 00

QO00SE 00 00 00 00 OO0 OO0 OO OO0 OO0 00 00 00 @O0 OO OO0 00 00 00 00
000063 00 00 00 00

gooosE 00 00 OO0 00

oooo7e 00 00 oo 00

= 0-31  F In-System Memory Content Editor i ELAIET3E

L559-3 16LCPURIMLA T S AT



SEI 5wt

9-3. 16 CPURILAL T 5 81%HT

9-4. CPURIHT &1t 5%




